[bookmark: _GoBack]EOG Computation Review #2				Name:____________________
1. (−3) – 21=____________

2. -52 − (−34)=_____________


3.  One package of blueberries costs $3. How many packages of blueberries can you buy for $9?

_____________

x _________________





n


x 


(v)=_____________


        9.  −8 (9x + 2)=____________


       10.  Bob can run ½ mile in a ¼ of an hour. How many miles per hour is this?


___________________

      11.  3 = −3(2n + 1)

___________________
